‘ A ™
v SLRBEAL-

We can supply that.
m Manual del usuario Manuel de l'utilisateur
Customer Service Servicio de atencion al Cliente Service a la clientéle
US: 1-800-645-2986 US: 1-800-645-2986 Canada: 888-645-2986

Surface Mount Fire Extinguisher Cabinet
670597|v(llgi?: Igs%jz - 51b Ext.)
670598 (Fits 10 Ib Ext.)

) PARTS LIST

A WARNING

« If mounting to building wall, check
for electrical wire, plumbingl0 Plexiglass Window x 1
potentially dangerous hazards I\_\, \Q =

« If mounting to steel post or beam, Handle x 1
contact professional service
company to mount cabinet

\ J Flat End Screw x 2

ASSEM B LY Sheet Metal Screw x 2 Safety Label x 1
INSTRUCTIONS MOUNTING

1. Using a Phillips head screw driver, attach the INSTRUCTIONS

handle to the door using two flat end screws.

mI—=m MO MO0 Z-—

—
Latchx 1

<rEX=T MrozZ»I rrco

2. Attach the latch to the inside of the door « For wall studs, use #10 x 1 1/4" wood screws
using two self drilling screws. « For sheetrock, mount a 3/4" wooden board (not
3. Remove the protective film from the included) to the wall first using 3/16" toggle
plexiglass window and place it on the inside bolts. Make sure the board extends at least
of the door. Fold the sheet metal mounting 2" beyond all sides of the cabinet. Mount the
clips over the window. cabinet to the board using #10 x 1" wood screws.
4. Place the safety label on the front face of the ~ +  For cinderblock or cement, use 1/4" toggle bolts
door, under the handle. or #10 masonry lead screw expansion anchors

For concrete or tile wall, use #10 masonry lead
screw expansion anchors.

i — NOTE: wood screws, toggle

I I bolts, masonry anchors

1. STy and other mounting

A . hardware not included. r‘
——— Mounting clips
y 4

Figures:

Cabinet
Front _
and Rear *WJ






